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KGH106=NGH106+DYG106
OPDN106=KGH106-IPDG106+PC106 -DYG106
IPDG106=(KGH106*55%) +PC106

P106

KGB106=NGH106 4 4F & 5t*P1s
KGHA106=KGB106+DYG106
OPDGA106=KGHA106-IPDGA106+PC106-DYG106
IPDGA106=(KGHA106*55%) +PC106

DYG106=DYG105*(1+DYNqq)
SG106=HCV106+FG106+0TG106+QRG106+ERG106+DRGs106+HS106+LA1

HCV106 ( &4-THE 26555 &7t )
FG106 ( &4ETHE12,452.5HE7T)

OTG106 (4 /FTHE4215. 75 HTT)

QRG106 (& THEHEI975HETT)

ERG106 (4 /FHE160.05 #7T)
DRGs106(4: 4 TE E1300 5 #71)
HS106(4:FTHE60H & T)

LAL06(<: 4 THE800 F 7T
G106=KGB106+DYG106+SG106+Q106+Q105
G106/G105-1

107,031,326,230
42,971,068,946
58,867,229,427
0.25291656
102,625,358,973
107,818,386,830
43,325,246,216
59,300,112,757

0.02975
5,193,027,857
5,410,175,000

663,750,000

3,113,125,000

1,053,925,000
249,375,000
40,000,000
75,000,000
15,000,000
200,000,000
113,418,616,210
6.44%




